
« M4*12 » Screws

« M5*12 » Screws

13. « M4*12 » Screws

« M5*12 » Screws

1. Plastic plates with hinges

Plastic plates with hinges

7. Platform plate  

Platform plate  

note:
8 & 9 are a 
complete part  

note:
the rods 2 & 4 & 5
should be slightly 
bent to make them 
easier to fit together 

note:
tighten the screws 10 & 13 
throughout the product


